Lecture # 5&6
PROBLEMS WITH MEASURING NATIONAL INCOME:
Measuring of national income of an economy is not a simple task. There are some practical difficulties in measuring the national income of any economy. Some of these difficulties are briefly discussed below: 
1) Non Marketed Production (or unpaid services): In estimating national income, many kind of productive work is not included. Services of housewife, teaching of one’s own children, growing of vegetables for home use, production of milk for farmer’s self use etc. are examples of such work. These services are ignored because it is difficult to compute the money value of non-marketed production. This practice under estimate the national income.
2) Barter transaction: Some time goods are exchanged for goods and no money is involved. It is difficult to find the correct money value of barter traded products. Since national income is calculated in monetary terms, the inclusion of barter traded goods and services creates problem. Some time indirect methods are used to estimate the value, yet these provide only approximate measure.
3) Government Expenditure: While measuring national income, estimates for consumption and investment are also made. However, it is difficult to decide about the nature of government exp of education, health, defence, etc.   Is such expenditure a part of consumption or investment? The practice followed is that defence, police and general administration are counted in consumption and expenditure on education or health is split into two parts, i.e. non-development and development expenditure.  (But no clear cut line can be drawn between the two types of expenditure).
4) Foreign Firms: Incomes of foreign firms in Pakistan also create problem. Should their income be added to our NI or to the NI of the parent country? 
5) Inadequate Statistical Data:  In under-developed countries like ours, sufficient and up to date data are not available for many economic activities. Scientific methods are not used for collecting information. So only rough estimates of production of sectors like agriculture, forestry and small business are made. This creates a difference between the true income and its estimate.
6)   Lack of trained Staff:  Collection of data requires trained and qualified persons. However, the under developed countries like Pakistan do not have trained people in sufficient number. For example Pakistani Patwari.
7) Illiteracy:  Due to illiteracy most of the producers have no idea of quantity and the value of their output. They do not keep regular accounts.  
8) Lack of Specialization: Some people are engaged in many jobs at a time e.g. a farmer may manage poultry farm and may be a seasonal industrial worker also. It is difficult to know the total earning of such people doing many jobs at a time. It is difficult to count his income in and any sector of production.
9) Quality of Product: The quality of goods available changes over time. Some new products, which did not exist previously, come into use. This makes the use of GNP statistics as indicator of changes in welfare of the nation a difficult task. 
10) Non-Co-operation of people:  In under developed country like Pakistan, the people do not co-operate with data- collection agencies. Due to fear of taxes, they give wrong information about sources and value of their income or quantity of production as too low and at some other occasions; they will claim too high production.
11) Environmental factors: Because of modern methods of production, pollution of air, soil, and water is taking place i.e. there is degradation of the environment. But such environmental ‘costs’ are not included. This factor reduces real value of national income. 
12) Black Economy:  About 20% to 30% of our economy is unrecorded or underground. The officially declared incomes or payments are much less than the actual values.  (See for details of  underground economy at Explanatory note of Fundamental of Economics by Habib Ullah Vaseer Chapter 2 page 27)
CIRCULAR FLOW OF INCOME

We know that receiving of income and production of goods is two sided of one activity.  There will be income only if goods and services are produced. A person doing nothing cannot earn income although he may receive money as gift, pension, unemployment benefit, or alms. In study of national income, receiving of money is called income only if it is matched by production of goods of equal value. 

Income is earned to be spent. When we study the process how income is received and how it is spent, we find that there is a direct link between production of goods and services and spending of incomes. To explain it we take a simple model of economy, which consist of two sides, firm and household.
Firms represent the production side and perform two kinds of activities. By employing various factors of production, they produce all kind of goods and services demanded by the people. They sell their output in the product market and receive money payments. Next, the money so received by the firms is distributed among the factors employed, in the form of wages, rent, interest and profit. The receipts from the sale of output are always equal to the payments to factors of production.
Household represent consumption side and also perform dual functions. Firstly, in the capacity of owner of factors, they provide factor services to firm through factor market and in turn receive incomes. Secondly the household become the buyer of the product market and spend their income on the purchase of goods and services. 

We have explained the working of firms and households separately and have found that in an economy two types of flows take place.

(i) Real Flow------- Services of labour, land, and capital going from household to firms and products of firms as physical goods or services flowing to household.
(ii) Money Flow--------- firms making payments to households for factor services and households spending money to buy goods and from firms.
The important fact about these two flows is that they are never isolated. They inter-related. 
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